JlorapudpmMmmuyeckme HepaBeHCTBaA

1. Peuinte HEpaBEHCTBO:

1 1
log; p +logy (6 +3x —9) < logs (x* +3x + o 10).

2 (x—1)°
2. Pemure HepaBeHCTBO: 9log, (x” +x—2) < 10+ log, T2
X
2
3. Pemmre HepasenctBo: log, (x> —4) — 3log, )% > 2.
x—
4.P 0g=5 510
. P x.
CIIHTE HEPABEHCTBO: logx = 2

5. Pemmre HepaBenctBo: logy (x> —x — 3) +logy (2% +x—3) > logy (x* —2)> + 2+ log 4.

2
6. Pente HEpaBEHCTBO: lg(5y” —2y+1) < logs: 7
lg(4y? —5y+1)3 ~ logs7

2
7. Pemnte HEPaBEHCTBO: In(3y"—2y+1) > log;s 3 .
In(5y> —6y+1)> = log;3

1g(3 2v/x—1 1 11
8. Pemnre HEpaBeHCTBO: g(3x+2vx )5 > 0832 .
lg(5x+3y/x—-2) log, 11

log;; (3x+2vx+1+2) _ logy;11
9. Pemmite HEpaBeHCTBO: > .
log,;(5x+3vx+1+3)3 — logz11

10. Pemnte HepaBeHCTBO: x210g16x > log; 6x5 + xlog,x.

11. Pentute HepaBeHCTBO: x°10g,sx > log,sx® + xlogsx.
12. Pemnte HepaBeHCTBO: logsx+ 6 > 5log, x.

13. Pemmte nepasencTBo: log?x + 5log, x+ 6 > 0.

02
14. Pernnte HepaBeHCTBO: 2/°2% 4+ 082X < 256,
P

2
15. Pemmre HepaBeHCTBO: 2log, x+3 7 +logy (x—3,7)* > 2.
X—2,

1
16. Penure HepaBeHCTBO: logs (x> —x—2) < 1+1lo 3)1.
g g P

—1
17. Pemure HepaBeHCTBO: 2log, % +log, (x+ 1,3)2 > 2.
X

9

18. Pemute HepaBeHcTBO: log?(—log,x) + log, logsx < 3.
19. Pemnre HepaBeHCTBO: log%’s(— log; x) —logy s logdx < 3.
20. Pemmte HepaBeHCTBO: log%x—&— 2 > 3log;x.

21. Pemute HepaBEeHCTRBO: log%x+ 6 > Slog, x.

22. Pemmte HepaBeHCTBO: 2logy (4x% 4+ 1) > logy (3x* +4x+1).

23. Pemurte HepaBEeHCTBO logg % > IOg%,z X .
2 2
24. Pemure HEPaBEHCTBO 1g2 (x+ )S(x+ 5) < lg2 x;)S .

25. Pemmre HepasenctBo logZ(25 — x?) — 3logs(25 —x*) +2 > 0.
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Pemmre HepasencTro 1

Pemmre HepaBeHCTBO

Pemmure HCPaBCHCTBO

2 _
Slgx—1 > 1.
lgzx—l
log3 (4 +3x —x%) + 7logy 5(4 +3x —x%) + 10 > 0.
log, (x—1)-log, ;(x+2) <0.
(logy(x+4,2) +2)(log,(x+4,2) —3) > 0.
logy (" +4x) +logy 5 § +2 > logy (v +3r—4).

_1)\3

(x
31 21 8x—9) <4+logy —.
0g;(x*+8x—9) <4+log,, 70

10g y3. i3 4 > 10g .13 (5~ 27).

S

(3x+7) - logy, 5 (x* +4x+5) > 0.

(5x—13) -log,, _s(x* —6x+10) > 0.

lg*x—41g3 x+51g2x —21gx > 0.

(log3 x — 2log, x)? < 11logs x — 22log, x — 24.
21082 _gcr17) (3x? +5) <log_ g, 17(2x%* +7x+5).

x+2
logs_, G—5¢ >

—4.
1 +logg(4 —x) < logg(16 —x?).
log;%(25 — x*) — 3log; (25 —x*) +2 > 0.

log, (64x)
log,x—3

log, x* + 16
logix—9

loggx—3
log, (64x)

>

log, (16x*) + 11 o
logix—9

10g23 (9x) —13 <1.

logs x + logs x*

logg (36x) — 1

log2x — log, x3

—1.

> 0.

(logyx+2)?
logix—9
+ 10 + to >0
logyx—5  log3x —log, (32x10) 4-30
log3ic > 2 5

log; (57) ~ logzx
logs(5x—27)
logs(x—5)

> 0.

logix —logyx3

> 1.



